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Nov. 4th: 11.3: The Integral Test
Warm-Up

1. Compute the following integrals:
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1. Determine whether the harmonic series Z = converges or diverges.
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The Integral Test. Let f(x) be a continuous, positive, decreasing function defined on [k, 00) and suppose
a, = f(n) for all n.
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Then theseties E a, and the integral / J(x) dx have the same behavior. Specifically:
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e If / f(z) dz diverges, then Z a, diverges.
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2. (Clicker) For which values of p > 0 does the series Z p— converge?
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3. Use the Integral Test to determine whether the following series converge or diverge.
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